
Rev. 1 
 

 
20005-20010 – Double Gun Boot Bed Mount 

 
 
 
 
 
 
 
 
 
Mounting Instructions: 

1. First, attach the U-Bracket to the Main Weldment using the 5/16” Carriage Bolt, Washer, and 
Nylon Nut provided.  Snug the bolt so that you can still move the bracket with some resistance.  
This will allow you to position your brackets easily, and then tighten at the correct setting. 

 

 
 

2. Now, place the Gun Boot 6.0 into the brackets.  The “nose” of the Gun Boot will slide into the 
Main Weldment as shown.  The U-Bracket (shown in above photo) is designed to Pin through the 
rear slot located near the back of the Gun Boot.  Position the brackets to the setting of your 
choice in the bed of your UTV. 

 

 

Description Quantity 
Main Weldment 2 

U-Bracket 2 
5/16” x ¾” Carriage Bolt 2 

5/16” Washer 14 
5/16” Nylon Nut 8 

5/16” x 1.00” Lag Bolt 6 
5/16” x 1.00” Hex Head Bolt 6 

Square Pin 2 



Rev. 1 
 

 
 

3. Slide the U-Bracket as far forward into the slot, so that the pin is located at the front of the slot in 
the Gun Boot and this will push the nose of the Gun Boot tight into the Bracket.  This will keep 
the Gun Boot from being able to slide back and forth in the Bracket during operation. 

 

 
 

4. Once both Gun Boots are secured in the bracket, mark the hole location on the wall of your bed.  
Note:  You will probably need assistance to make sure the brackets are positioned correctly in 
your bed.  Be sure you double check your hole pattern before drilling! 

 
5. Finally, attach the bracket to the bed of the UTV, using either the 5/16” Lag Bolts (for Metal Beds 

Only), or the 5/16” Hex Head Bolts with Washer and Nylon Nut (for Plastic or Metal Beds). 
Tighten Securely, and be certain not  to over tighten the lag bolts as the threads could strip!   
 
NOTE:  BE SURE TO CHECK HARDWARE FROM TIME TO TIME TO ENSURE THE HARDWARE DID 
NOT LOOSEN DUE TO VIBRATIONS AND ROUGH TERRAIN. 
 

The 20005 is able to be used on UTV Beds with Dimensions between 55.00” – 47.75” (Ranger, RangerXP, Mule) 
The 20010 is able to be used on UTV Beds with Dimensions between 48.50” – 43.50” (Rhino, Teryx, Ranger 400) 

 

 
 

 
Kolpin Outdoors, Inc. 

205 N. Depot St, Fox Lake, WI 53933 
Phone #: (877) 9KOLPIN or (920) 928-3118 

www.kolpin.com customerservice@kolpin.com  
 

http://www.kolpin.com/�
mailto:customerservice@kolpin.com�
klang
Highlight


	Mounting Instructions:

